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Links to Literature

Inherit the Wind


Part Two

Answer Key

Exercise 1                                             Exercise 2

1. e                 




1. c

2. a or g





2. b

3. a or g





3. c

4. b, f, or h





4. b

5. d






5. c

6. b, f, or h





6. c

7. b, f, or h







8. c

Exercise 3

1.   Because witnesses can not testify against a law that already   

      exists.   Or other reasonable answer.

2. He hopes to show that evolution can be interpreted differently

by different people.

Ex:  A "day" could be 24 hours, or a million years.

3. By the end of the trial, the sympathy of the crowd had shifted in 

favor of Drummond and Cates.

4. Answers will vary.

5. Answers will vary.

Exercise 4

Answers will vary.

Exercise 5

Answers will vary.

